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(¢) 3ix(bxé)

(@) dx(bxc)
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(b) Stoke’g thearen,
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(€} h*>ab

(@) K’ <ab

(v) fag (1, 2, 3) WU 3x° -4y+5:7=32 &
w0yl B W -

(a) v3x®-8y+15z=32
(b) 3x’+8y+15z=-32
(¢) 3x?-8y-15z=32

(d) -3x°-8y-15z2=732
Equation of tangent planc of conicoids

3x? —4}:4—512 =31' at t’f_}c point (1, 2, 3) 1S :

wod Aprasureln:mam,dny

(@ 3x*-8y+15z=32
) 3" +8y+152=-32
(€©) 3x*-8y-15z=32

(d) —3x*-8y-15z=32
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Section-‘B*

| (o switg ay ) 5x2=10 |
(Short Answer Type Questions)

i

qHE Wﬂfawﬁ%mﬂﬁmmmﬁﬁm
T FOh AAE &1 Qe vy 2 siw @ 2 '.
AIIIEH'IP!' al! the ﬂve questions. One qu{."!i'lfﬂil {

Jrom each unit is compulsory. Each guestion
carries 2 marks. '

Note :

FTE-1

Unit-1

.: =i @7 wigw ¥ T@ fag wifeg &

¥

2. 3 a.b
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a+b,b+¢, E+ﬁ]=2[&,b,5]
If G b.¢ be any three vectors then prove that

[EE+ b, b+¢, E+&]=2[Es‘,.’3,£~']

areEr
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i F:.rf+y}+zi ¥a fog =T & div F=3 ™

Gl.ll'l F =

0

Wri=y +}:} + zf: then prove that div F =3 and curi

=0

gE-il

Unit-E1

3. J_F-‘ﬁ ﬂ‘{fﬂ'ﬁlﬂmﬁ? F:_r2}525+y} LCEEET

C, Y =dx,xy @ T (0,0 R 4 D S

Evaluate X{_F'ﬁ where F = x

2,27 +yj andcurve C 8

}-1 — 4y in the xy ptane {rom (0, 0) to .(ﬂt. 4).

72

|

=
Or

(1)=51% +g—r'k 7@ R i,

2
|

£ 2= - - -
. }{f_i_'._}ff =-14i+75j - \5k
d’
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If 7(1)= 5% + 1 —13k then prove that

2f . dF ..
J FX— 5 it =-14i +75] - 15k

IEHE-111
Unit-11

4. Twizn f& s l=1+¢-:'(:05Ei ud —i-=—l+ecusﬁ
. Fr r .

t{ﬂ?ﬁ_?ﬁﬁﬂﬂﬂﬁeﬁaaﬂ%tt

Show that the equations

I - .
—=-1+ecos0 represent the same conic.
,

arergr
Or
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W%qﬁmmaﬁﬁmﬁﬂwﬂﬁbz
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To find the equation of conics which are confocal with

2 2
x° 0y
llipse < +=5 =1.
the ellip az bz

FHE-IV

Unit-IV
34 Vi w1 TS FW Ffrg e WY (s, 4, 3) 9
AMUR T, 3x° +i,v2=6.}'+z =0 ¥
Find (he équation of cone whose veriex (5, 4, 3) and
guiding curve 3x? +2y2 =6, y+2=0.

anurET
_ Or
T g e W AR e s e R

T L4yt 4zt =9, x-y+z=3 11
Find the cquation of right circular cyiinder whese puiding
circle is x? 4+ y* + 72 :9,x-y+lz=3-
THE-V
Unit-V
fog =ifsu f& 9Ada x+2y—2z=4 WIAIH
1 4 dy? =24y T & R fag & P

2b A TRITET)
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Prove that the plane x+2y-2z=4 touches the

Pﬂmtﬁﬁlﬂid 3_1_‘2 + 4},2 = 247 and also find the cn—ﬁfdi“ﬂte

3TerEY
Or
fag wifeu f& w9a® Lx+my+nz=0 8 WS

c.r..t2+b_\r2=c'22=], * gft=l@e &  aM NS

(b=c)f+(c—a) 2+ (a=b)2=0 w =)

Prove that the axes of the section of the conicoid

ax? + by’ = czl =1 by the plane Ix +my+nz =0 lie

&

Lo A (o =0
on the cone (L’_f);"'(‘ ~a) y +(a b} - X
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Section-‘C’?

( & Iwiia o) _ §x5=25
(Long Answer Type Questions)

s« @ ot T ¥ IR A 7w T 8 U
wv7 F0 a1 5@w weq 5 w1 w1 E

Note : Aitempt all the five guestions. One question
from each unit is compulsory. Each question

carries § marks.

T&s-1
Unit-1
-2k,

0= )
t=2+3j-k ™ =0 W :(;5 a(bmﬂ BIG

Hfel

If G=sin®i +cos8j+8k, Ezcosﬂf—si}'nﬁj—fiks

E=2§+3j_£'lhen find ga[a(gxc)] and 9:0.
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A F=xi+y+zk @ fag e curl (r"i’)=ij.

I F=xi+yj+2k then prove that curl (r"F ) =0,
IHT-11
Unit-11
. I W W WA R WA F = (2 4y

WATR Y X=0,x=a, y=0,y=¢ Qa1 7 ¥ ofig
fo ¥

Prove the Stoke’s theorem when F= ff + p,-} when
integrated taken around the square x=0, x=g4
V= = Ll
v=0,y=q. http,uwww.u_|_|mn.~m:dy.{:um

HYyay

Or
4 T R wrma g | (¢ sinydete T cosy

~ g Jle "sinydc+e cnsyr{p) -

C

A W sifow) wafs o

http:.-".-“wwﬁxglfl]‘jﬁ?ﬁstud}'.com

wod Aprasurelnmam,dny



wo Aprysurelin: mmm/idny

9, WHy

http://www.uj 'iaii-1;1s'tud}'.cor11 , . http://fwww.ujjainstudy.com

114
PSP ug ,
T T A QSQ TF Wied = B WER NEs: =
smaa ¥ e (0,0).(::,0),(?:.5J(0,:2—J wid ¥ TR g &, T fag Fifm |
Find the value by Green’s theorem K ! I
SP-SP’ " 5o 507 = ¥
w50
e~*sinydx+e " cosydy o If , , : '
{_[ ( ) _ PSP’ and QSQ" be two Perpendicular focal chords

of a conic then prove tha
where C is a rectangle whose vertices are

oo x3os)

TEE-111

Unit-i11

L
~ oo+ -
SP.sp’ W"' constant

T 1V

Unit-1v
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17x2 —12xy+8y? +46x 28y +17=0
1 s Ffe T Framail % wie § @ S

Trace the conic

2 ¥ o Foroat s e Y Lo ¥"2_ 23
2

. . X
17x% =122y +8y* + 46x - 28y +17=0 2 and whose axis straight line 5

Also find the equation of its directrices. . _ Sreran

T | _ Or
Or
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s e 1 ET T TR A (1,3, )

ST Qiha

2 .
flx y)= ax’ +2hy+0y" +2gx 42 102 z=0
4

Find the cquation of cone whose vertex (g, 8, y) g

base the coni¢

2 ?
Flxy)=ax 20Xy +by” + 205 +2 fi 4= 0:7=¢

FFF-v

Unit-v

v },2 .2
i, Afaqaags. MY SR % Fa
at b ot S

(acoso, bsing,0) 4 97 @ W ¥ wiE© T@
Fifem |

Find the equation 1o the generators of the hyperboloid

which passes through the point {¢cosc, hsinu,ﬁ].
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el
Or

wiwas ax’ +by? +cz =1 % Framys Tl F1 FHEHLO MG
it |
To find the equation of director sphere of the conicoid

,
ax® +by® +¢cz” =1.
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